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Subject Ability Test (SAT)

Class - VI
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............ Sunday I go for swimming. (choose any one from the following and fill in the blank)
a) From b) On c) By d) Of
Frend- .................. (choose the opposite word from the following)

a) Companion b) Best Friend c¢) Colleague d) Enemy
BESEW ..o one act play. (choose any one from the following and fill in the blank)

a) A b) an c) the d) on

The boyran ........ the room (choose any one from the following and fill in the blank)

a) of b) on c) into d) to
Strapht Angle =2 X .o.oococuvieis

a) 45 Degree b) 90 Degree c) 180 Degree d) 60 Degre
A Gas Pipe is an example of ............

a) Rectangular Cuboid b) Cube c) Cone d) Cylinder

The age of my elder brother is one third of my father’s age. My father is now 49 years old.
What is elder brother’s age?

a) 16 years b) 16 yr 4 mn ¢) 16 yr 6 mn d) 16 yr 8mn
% How many parts of this is empty?
a) 2 b) 3 c) 1 d)1

3 4 3 4

Cars are moving on the way. What type of incident it is?
a) Simple periodic b) Abnormal periodic c¢) Intentional d) Unintentional
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Which one is liquid non-metal ? (SAT-VY)

a) Mercury b) Bromine ¢) Graphite d) Copper
Match both sides:
Lefi Side Right Side
i. Iron a. Black Diamond
ii. Coal b. Liquid Mixture
iii. Petroleum ¢. methane
iv.  Natural Gas d. Stainless Steel
a) i-a/ii—ciii-b,iv-d b)i-b, ii—a, iii—c,iv-d
¢) i-c,ii—aii-b,iv-d d)i—d, ii—a,iii—b,iv-c

The name of the animal who digest cellulose ..............

a) Fish b) Bee ¢) Termites d) Ant
Pond Silkis .............. ..
a) Moss b) Fungus ¢) Fish d) Algae
The achievements ofking ................ were described at ‘allahabad Width(Prasasti)’
a) Kanishka b) Samudra Gupta ¢) Horsobardhan d) King Ashoka
The name of red planetis ...............
a) Earth b) Mars c) Neptune d) Jupiter
The name of Space Research Institution of India is...............
a) NASA b) ISRO c) INSAT d) SAT
Yeastis ..........
a) Algae b) Bacteria c¢) Fungus d) Protozoa
The source of energy in Food Chainis .............
a) Sun b) Food c) Water d) Green Planet
Bihu is popular folk dancein ...............
a) Pumab b) Assam c) West Bengal d) Delhi
Ajanta is famous for .............
a) Cave Painting b) Wood Painting ¢) Canvas Painting d) Picture
If one side of a square is a unit, then it’s perimeter will be...........
a) 4aunit b) 4+a unit ¢) 4 —a unit d) 8a unit

The multiple of two real fractions is always ........
a) Real Fraction b)Compound Fraction c) Unnatural Fraction d) Complete Number
The angles of a quadrilateral are 50 degree, 60 degree and 120 degree. The fourth angle will be ..

a) 110 degree b) 70 degree c) 60 degree d) 90 degree
DO E 0. 20% s invsissns s rprasores
a) 0.04 b) 4.0 c) 0.0004 d) 0,004

What will be the reciprocal of 73l —

1 22 3 3

a) 7<% b) £ = d =

) 73 )3 ) 2 ) 41
The sample of oldest ............... cultivation was found in Mehergarh Civilization —

a) Paddy b) wheat ¢) Corpus d) Barley
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The name of nearest star of carth is ......

a) Proxima Centauri  b) Moon ¢) Sun

The First space traveler was........... ..

a) Rakesh Sharma b) KalpanaChaola ¢) Dog

The moving way of planet is called ...

a) darkroom b) orbit ¢) Floor

The another name of Western Ghat Mountains is ............

a) Nilgiris b) Anaimudi ¢) Sahyadri
T s svinssamansinn is called the roof of earth.

a) Himalaya b) Pamir ¢) Andes
TS AR TR @1 IR — FAgegha e —

a) AEEI IS b) =& sttt c) fim sad
wfvz f5e #ivt 21 e 3 —

a) M b) w=d c) %
Rossetti was an —

a) Anglo-Indian b) American c) European
The svamalata isa ........

a) Symbiotic b) Parasite ¢) Dead Plant

What was the name of domestic animal of Harappans?

a) Cow b) Ass c) Horse

IIfes TR SR AT TFal AET —

a) ug b) o= c) e

TSI 261 I —

a) TEINGE b) @Y c) X7y
1,4,9,16, ......... y S (complete this series)

a) n2i b) 24 c) 25
Mahabharata was written at the time of ................

a) Old Vedic Period  b) Next Vedic Period ¢) Kali Yuj

“Income Rs.10” - theopposite form of it is ........

b) Expense Rs. 10 c¢) — Expense Rs. 10

a) —income Rs.10

Bauxite is the ore of the metal

...............

a) Iron (b)Aluminium c) Copper

Who discovered the gravitational force of earth?

a) Tomas Alva Edison b) Isaac Newton ¢) Rakesh Sharma
Archimedes

The rare population state of Indiais .................

a) Rajasthan b) Sikkim c) Goa

(SAT-\D

d) Star

d) Sunita

d) equatorial plane

d) Udoygiri

d) Rocky

d) == fiig
d) af
d) English poet

d) None of These

d) Camel

d) =y
d) @reg

d) 30

d) None of these

d) None of these

d) Gold

d)

d) Uttar Pradesh




Mental Ability Test (MAT)

Class - VI
1. 35+7.\'5=?if+sign is + and X sign is -
a) | b) 0 ¢) 25 d) 200
(Ram X Hari) — (Jadu x Madhu) = 0 and Ram = 7, Jadu = 4 and Madhu = 21; now Hari =?
a) 10 b) 11 ¢) 12 d) 13
Change the sign accordingly : if +is x, xis (), () is - , - is + The answer of 3x2+4 -2 =72
a)  +l b) - 1 ¢) +2 d)-2

3+5X8+2-10=13  which of two signs of this will be inter-changed to correct answer?

a) +and- b) X and + (c) + and - (d) + and +
Which one is 0odd?
@) S0 (@) @)
a) @) b) c— ¢) | 20 d) o)
=0« O o— «O-

Which one is different?

a) LA b) P‘v c) ﬁ d)

Which one is different?

CIC) (D& I ©0O
a) — b) — c) — d =
Fill in the blank with correct letters —

BD| |[EG||JH||KM] | ?

/AN

a) FH b) QS. c) NP d) OR
I

@ @ @O
a) IN b) FO c) TI d) TC
A B

A2

G H

Choose a word from left side and choose a word from right. Finally prepare a word —

1. 1,5,13,25,41,.2...
a) 52 b) 58 c) 61 d) 62
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Which one will be at fourth position?

9 PH| - P
g - T L

COMPUTER based/related will be RMINOTO™; Finally the word is — ...........cccceeunenn.
Arrange this *LEDAB" And you will get a sharp-edged material - ............................

A and B are co-prime number. A is lowest composite number and B is lowest odd prime number.
ThenAxB =

a) 10 b) 12 ¢) 20 d)24
5¢+2=%
2 2 1 1

a) 1x= = + 2 2

) 5 b) 1+ > ©) 2+ d 2
Which one is equals to g ?
a) 0.77 b) 0.66 ¢) 0.6 d) All
The fraction form of 0.200 will be -
a) %% b) § c) %00% d) None

Which one is right at the place of ?
NE
==
) [ A b) 0 | X )|,

MNOPPOOPOPOROPPPOOPOP — in this series how many O are here just before P?
a) 4 b) 5 c) 6 d) 7
Which one is right at ? —

a[vle]
e v e

7]y 2A "7
Which will be at “?” [© || §80 0

T Y B N
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a) 4 how many number sit Just after letter and those are divisible by 3),

b) 3 a2 oy

Follow this pictu
re where A § )
¢ A'is your room. Following which is similar to this picture?

a) v " Q o @

If CALF = FALC, Then what will be of HEAT ?

a) TAE
) H b) TEAH ¢) THEA d) TAHE
EJ How many straight lines are here?
a) 10 b) 12 c) 14 d) 16
How many squares are here?
a) 20 b) 21 o) 22 d) 26

Write from A to K. again you write reversely from K to A. now you count the number of letters
from F to F.
a) 12 b) 14 c) 10 d) 16
Ram and Shyam stood in opposite face. Ram was south position of Shyam. If Ram wants to
touch Shyam, then in which direction Ram starts to walk?
a) East b) West ¢) North d) South
A square-shaped field is just in front of your house. The area of that field is 64 sq. mt.Now you
want cover that field by fencing , s0 what will be length the fence?
a) 32mt b) 24 mt. c) 40 mt. d) 30 mt.
Only Rama and Sita know English in your class. Dropadi and Sita have no knowledge about
mathematics. Rama and Bandana don’t know about science but good in math. Who can’t do
math but good in English ?
a) Rama b) Sita ¢) Dropadi d) Bandana
Nayan, Chayan, Boyan, Ayan and Moyan are five friends. Chayan and Ayan love rosogolla, but
rest love Bonde.Nayan, Chayan and Moyan want to g0 outside in holiday but rest want to use
tobla at room. How many of you want to use tobla at ho;ne? 0
b) 3 c)

;)achii and Sourov want to [)>lay hockey and volley. Sachin and Rabi are good in hockey_and
tennis. Sourov and Birat are good in cricket and volley. Rabi, Birat and Rahul are good in

is. Who plays all? .
g;otb;l:l ::li tennis P b;( i ¢) Birat d) Rabi

elationship among male student, female student and teacher?

Whose picture shows ther

" @) b) ©) @ d) OOO
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Whose picture shows the relationship among crow, bird and dog? ( )

a) O b) OOO 0 &

Show1'ng a lady l'{ohon said that she was the daughter of only one son of his grand-mother.
What is the relation of Rohon to that lady?

a). sister b) niece ¢) mother d) None

Rina stands to the north-cast direction. She first moves in clock-wise 90 degree direction. Next
moves in anti-clock-wise direction 135 degree. Now which is his face direction?

a) FEast b) south ¢) north d) west

B is in the east direction of A and north direction of C, If M goes to the south direction of C,
then find the position of M in respect of B.

a) Norlh-.l-lasl b) East ¢) South-East (d) West
Arrange logically - 1. Kid 2. School education 3. Marriage 4. College education 5. Birth
a)  4-5-2-3-1 b) 1-2-3-4-5 ¢) 1-2-5-4-3 (d) 4-1-2-5-3

Whose picture shows the relationship among Delhi, India and Moon?

) @O b)@ c)C?O »(Q)o

Whose picture shows the relationship among vegetables, onion, fruit?

a) @O b) ¢) d) OOO

How many triangles are here?

a) 15 b) 16 c) 17 d) 18
The mirror image of the word ‘PLAY”’ from the left-side of the mirror is —
a) YAId b) YAIP ¢) YAPL d) YAL]
If MONKEY = XDJMNL, then TIGER =?
a) SHFDQ b) HFDSQ c) RSAFD d) KQDFHS
Find out number and put at the blank? — 10, 18, 28, 40, 54, 70, ..2...
a) 82 b) 88 c) 86 d) 87
If sky is star, star is cloud, cloud is earth, earth is tree and tree is book, then where we live?
a) Book b) Sky c) Star d) tree
12-144217:2
a) 289 b) 120 c) 60 d) 24

IfA is the father of B and C.B is not the son of A. So the relation betweenAand Bis ..............

a) B is the grand-father of A b) B is the grand-son of A

¢) A is the grand-father of B d) A is the grand-son of B

My mother tell me to buy three pairs yellow pen, four dozen red pen and 2 green pen from the

shop. How much pens I shall buy?
a) 50 b) 56 (c) 57 d) 58

D, E, F, G, H are the five m |
sister of H. F marriages to E. So the relation betwee:

embers of a family. D is the father-in-law of F. H is son of E. G is the
nHandDis ...........

¢) Grand-son d) grand-daughter

a) son b) daughter



